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BiZE| &t &t Bt [B& | BiZE| & &t &t &t W% | B | Bt |B&| BZE| &t
PR 1 1 1 0 0 0 0 0 0 0 0
RFLER 1 9 2 1 0 0 0 0 0 0 0 1 1
REZE 0 0 0 0 0 1 0 0 0 1 1
ERHEFE 5 | 10 2 1 1 1 0 0 1 0 2 0 1 1
E R R ED 3 0 1 1 0 0 0 0 3 0 0
BURRI 22 3 3 1 0 0 0 0 0 0 0 0 0
XEEER 13 | 28 7 14 0 0 0 0 0| 14 0 3 1 4
BT ZE 1 2 0 0 0 2 8 3 0 0 8 0 2 2
1FHRE T 1 0 0 0 2 4 0 0 0 2 0 1 1
FERREAE 33 | 34 4 4 7 7 4 4 3 3 3 0 0 4 4
FEEAE 57 | 92 20 20 O 9 9 8 | 16 6 5 3 | 30 0 0 0 8 14
EFHRER 0 2 0 0 0 0 0 0 2 0 2 0 0
BEEHRE 0 0 0 0 0 0 0 0 0 0 0 0 0
BREPHRR 0 0 0 0 0 0 0 0 0 0 0 0 0
HRFHER 0 0 0 0 0 0 0 0 0 0 0 0 0
EfRERPHER 0 0 0 0 0 0 0 0 0 0 0 0 0
BURRIPHIRR 0 0 0 0 0 0 0 0 0 0 0 0 0
XEFHRER 1 0 2 0 0 0 0 0 2 0 2 0 0
BEIZHMAER 0 0 0 0 0 1 0 0 0 1 1 0 1 1
IS AR 2B R 1 2 0 0 0 0 0 0 0 2 2 0 0
ERNERETER 0 0 0 0 0 0 0 0 0 0 0 0 1 1
HMERTHE 0 0 0 0 0 0 0 0 0 0 0 0 0
P4 &5t 0 2 4 2 0 0 0 0 1 0 0 4 3 7 0 0 0 2 0 2
HMEEEEE 0 0 0 0 0 0 0 0 0 0 0 0 0
HMEFREELERS 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
wast 57 | 94 24 220 9 9 16 7 5 3 | 34 0 [ 10 16
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R 0 0 0 0 0 0 0 0 0 0 1 1 2
BEEEE 0 0 0 1 1 0 0 0 2 0 0 9 6 | 15
EEPE 0 0 0 0 0 0 0 1 1 0 0 5 2 7
EEHRFR 2 0 0 0 0 0 0 0 2 4 0| 10| 12| 22
EFRBE R 2B 0 0 0 0 0 0 0 0 0 0 0 3 1 4
BURRIFE 0 1 0 0 0 0 0 0 1 0 2 4 6
XEE 2 1 2 1 1 2 0 0 0 0 6 0 | 37 | 29 | 66
TS 0 0 0 0 8 1 9 3 1 4 0 0 0 01| 22| 6 | 28
BB IS 0 0 0 0 1 1 0 0 0 0 0 0 4 3 7
FERHEE 7 1 2 2 1 1 0 2 2 0 9 0 8 4 4 1 99 | 100
FEAESE 12 3 2 4 1 2 3 9 2 |11 3 3 6 0 10 | 17 19 4 4 |[ 94 | 163 | 257
EERRE 0 0 0 0 0 0 0 0 0 0 0 0 0 2 0 2
BEZHRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BEZHRE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HEFHRER 1 0 0 0 0 0 0 0 0 1 1 0 0 0 1 1
EREREHER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
BURRIFMER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
XERREE 1 0 0 0 0 0 0 0 0 1 0 0 4 0 4
HIFHRR 0 0 0 0 1 1 0 0 0 0 1 0 0 2 1 3
IS A ARE 2R 0 0 0 0 0 0 0 0 0 0 2 0 3 2 5
SERBERRARR 0 0 0 3 3 0 0 0 0 0 3 0 0 4 0 4
HRETHE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
fRE&E 2 0 0 0 3 0 3 1 0 1 0 0 0 0 0 6 2 0 o 15| 4 | 19
HBEEREE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
HMBERELSR 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
EN=H 14 3 2 4 4 2 6 |10 2 | 12| 3 3 6 0 10 21 4 4 |[109 | 167 | 276
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